1.0F

0.8

0.6

04f

0.2f

0.0

=0.2}

—0.41

Clawpack Results
Plots created Mon Jan 21 2013 at 20:21:58 in directory:
/Users/rjl/git/rjleveque/clawpack-4.6.3/doc/sphinx/example-acoustics-1d/plots_4

Pressure at timet =  0.00000000 Velocity attime t =  0.00000000
| 0.4f
1 0.2
0.0
—0.2}
0.4}
-1.0 05 0.0 0.5 1.0 -1.0 05 0.0 0.5 1.0
Pressure at timet = 0.10000000 Velocity at timet = 0.10000000
10} 1
0.4} 1
0.8} 1
061 1 02y 1
0.4+ 1
0.0
0.2 1
0.0 02} 1
—0.2} 1
-0.4+ 4
-0.4+ 4
-1.0 05 0.0 05 1.0 -1.0 05 0.0 05 1.0
Pressure at timet = 0.20000000 Velocity at timet = 0.20000000
10} 1
0.4} 1
0.8 1
061 1 027 1
0.4} 1
0.0
0.2} 1
0.0 -0.2f 1
-0.2f 1
-0.4} i
—0.4f .
-10 05 0.0 05 10 -10 s 0.0 05 10



Pressure at time t =

0.30000000

1.0r

0.8

0.4

0.2

0.0

—0.2}

-0.4f

-1.0

-0.5 0.0

05

1.0

10r

0.6

0.4

Pressure at time t =

0.40000000

0.0

—0.2}

-1.0

-0.5 0.0

Pressure at time t =

05

0.50000000

1.0

0.8

0.6

0.2

0.0

-0.4r

-1.0

-0.5 0.0

0.5

10

Velocity at time t =

0.30000000

0.4

0.2

0.0

—0.2}

-0.41

-1.0

-0.5 0.0

05

1.0

0.4

Velocity at time t =

0.40000000

0.0

—0.2}

-1.0

-0.5 0.0

Velocity at time t =

05

0.50000000

1.0

0.2

0.0

-0.4}

-1.0

-0.5 0.0

0.5

10



